8-50 Per bolt, Ppmax = Pmax /N =80/10 = 8 kips, Ppmin = Pmin /N =20/10 = 2 kips
C=ky/(kp+kn)=4/(4+12)=0.25
(a) Table 8-2, 4,=0.141 9 in?, Table 8-9, S, = 120 kpsi and S, = 150 kpsi
Table 8-17, S. = 23.2 kpsi
Eqgs. (8-31) and (8-32), Fi=0.75 4:S, = oi= Fi/4A:=0.75 5, =0.75(120) =90 kpsi

Eq. (8-35), o, = C (s = Fimn) = 0.25(8-2) =5.29 kpsi
24 2(0.1419)
Eq. (836), o, = C(Pbmg Bn) | o =%+90=98.81 kpsi
, .
Eq. (8-38),
S.(S,-0) 23.2(150-90)
n,= = =1.39 Ans.

/o 8,0,+8,(0,—0,) 150(5.29)+23.2(98.81-90)



